1. Match the rigid transformation of y = f(x) with the correct representation, where c > 0
a) h(x) = f(x) + c                               (i) horizontal shift c units to the left                                             

b) h(x) = f(x) – c                              (ii) vertical shift c units upward
c) h(x) = f(x – c)                             (iii) horizontal shift c units to the right                        
d) h(x) = f(x + c)                             (iv) vertical shift c units downward
Sketch the graphs of the three functions by hand on the same rectangular coordinate system.  

2. [image: image2.png]f(x)
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[image: image6.png]h(x) = (x—2)*



 

3. [image: image8.png]f(x)





              [image: image10.png]g(x) = 3x°



 

[image: image12.png]h(x) = (2x)°



 

4. [image: image14.png]f(x) = Ix|



  

[image: image16.png]g(x) = x| -1
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[image: image19.png]h(x) = |x — 3]



 

5. [image: image21.png]f(x) =x




[image: image23.png]g(x) =vVx+1



 

[image: image25.png]h(x) =Vx—2+ 1



 
Compare the graph of the function with the graph of[image: image27.png]f(x) = Vx



.
6. a)     [image: image29.png]y=—Vx—1




b) [image: image31.png]x—2




c)    [image: image33.png]y=12x




Compare the graph of the function with the graph of [image: image35.png]f(x) = |x|



.
7. a) [image: image37.png]y=lx—75|




b) [image: image39.png]



c)   [image: image41.png]¥ = 4lx|




Use the graph of[image: image43.png]


  (below) to sketch each new graph.

8. (a) [image: image45.png]y=f(x)+2




(b) [image: image47.png]y=—f(x)




(c) [image: image49.png]y=f(x—2)




(d) [image: image51.png]y=f(x+3)




(e) [image: image53.png]¥ =2f(x)




(f) [image: image55.png]y=f(—x)




(g) [image: image57.png]y=fix
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